COOLER
MASTER

Make It Yours.

MASTERCASE MC600P

User manual / English

Jula @plial) / Arabic Manuale d'uso / Italiano
MHCTpyKUMs 3a ekcnnoatauums / bbarapcku A—H4—Xv=a7I/L/ BARE
RAIRAR / i3 Handleiding / Nederlands
REGRAA / ERahC 442 et / korean

UZivatelska prirucka / Cestina Instrukcja Uzytkownika / Polski
Handuch / Deutsch Manual do Usuario / Portugués
Eyxeipidio xpnong / EAAnvIka PykoBoACTBO Mosib3oBaTens / pycckui
Manual de Usuario / Espariol Uputstvo za koris¢enje / Srpski
Manuel de I'utilisateur / Frangais Kullanim Kilavuzu / Tirkge
Felhasznaloi kézikényv / Magyar Panduan Pengguna / Indonesia




3

1. PACKAGE CONTENT

Used for

RGB Extension Cable

Control Board

RN #6-32+32 Screw 12| 360mm Radiator

K #6 - 32*29 Screw 4 Front Fan

Stand-off Socket 1 M/ BTray

o} Stand-off 7 | M/BTray

) #6 - 32%10 Screw 4 HDD Cage

& #6-32+5 Screw 15 | PSU/Fan Cage / M /BTray
D Cleaning Cloth 1 Cleaning Glass

é #6 - 32%6 Screw 2 HDD Cage

/ CableTie 10 Cable Management

@ M3*5 Screw 4 ODD

@ M TOP Fan Cage 1 Lock Bracket/360mm Radiator
@ % @5*10 Screw 8 Top Fan

@ @y M3*4 Screw 20 | 257sSD

@E 3to4 Cable 3 Connect to Fan

@ Dﬂlmmm. Velcro Cable Management Strap 2 Cable Management

% M3*4 Screw 4 Fan Controller Bracket Screw
@ @/}A @3*6 Screw 4 Fan Controller Bracket Screw
% @3*8 Screw 4 Fan Controller Bracket Screw
QQE 5.25"Bridging Connector 2 Fan Controller Bracket
—




2. COMPATIBILITY

2/296mm \

[—=——— MAX412mm ——

(55

ww 06T

J=——MAX 412mm——




TR

7

W t—————]
SRR SRLe
=2 =]

T
b [ 243 .8m M=t
I







.............

020°000e0°Qe0°00:00:000Q°00c®

i i

N AN aN] AN]

i

©00500000500000s05050:0:0:0:0:0:0:0 || [IELEL=

/T ==\Z= VANE

eOeOoOoOnOnQoOcOguOuOuOquO.eO@
9

1 ol a—a == ==l




=
e
[
-
|
=
=
2]
=
<
A
M
=
]
=
2]
S
o
A
In




6. HARD DRIVE INSTALLATION

[l A.2.5"HDD/SSD




=
<7

JEN/

/

\
\
't Q
=7

7. HARD DRIVE INSTALLATION

(W C.2.5"HDD/SSD




=
2]
[
-
|
=
[
(2]
&
3]
=
[
(=]
|
L
=
[
A,
o
9




=
>
o
=
1]
[+
&
m
in
N
In
o




10. HARD DRIVE CAGE ADJUSTMENT







‘ 0 »\ﬂfﬂ%y

%’g%n////v\//w//f//w/v

=
e
[
-
|
=
[
n
&
=
e
-
=
o
[+
e
|
i




=
e
<
-l
=
™
0
&
=
&=
[ -
<
1]
(+
(=]
=
<
R
(=}
=
)
-




14. FRONT RADIATOR INSTALLATION (240/280mm)

N —

AR







IS{rany
I

Y

g

&
(=}
©
a
=
]
=
L
=
=
[
(7]
&
[+
=
=
(=]
<
[
[
=
(=]
[+
[T
10
="




i S|




T
s= NN\

74




=
2
™
5
[ |
=
™
n
&
[ -
=
=
(=]
]
[«
A
o
=4
©
=




17. REAR RADIATOR INSTALLATION




18. FRONT LED INSTALLATION

RGB Controller
Turn On Press the button

Turn Off Press the button for 3 seconds

Color cycle, Color jump change,
Color flash change, White, White
breath, Blue, Blue breath, Red,
Red breath, Green, Green breath,
Orange, Orange breath, Cyan,
Cyan breath, Purple, Purple breath

Lighting Modes

Sata

70700000007000 0000 200000002097 )







20. FAN CONTROLLER INSTALLATION

N

>
—— h

e\

,
\
4

I A A




Package content
compatibility

motherboard installation
motherboard installation
power supply installation
hard drive installation
hard drive installation
optical drive installation
5.25" bay removal

hard drive cage adjustment
hard drive cage adjustment
front fan installation

top and rear fan installation

front radiator installation (240/280mm)

front radiator installation (360mm)

top radiator installation
rear radiator installation
Front LED Installation
remove partition plate

Fan Controller Installation

(DE)

Lieferumfang

Kompatibilitat

Installation der Hauptplatine

Installation der Hauptplatine

Installation des Netzteils

Installation der Festplatte

Installation der Festplatte
des optischen L

5.25" Schacht entfernen

Festplattenkafig anpassen

Festplattenkafig anpassen

Installation von Front-Liifter

Installation von Heck- und Top-Liifter
Installation eines Front-Radiators (240/280mm)
Installation eines Front-Radiators (360mm)
Installation eines Top-Radiators

Installation eines Heck-Radiators

Installation eines Front-LED

Entfernen der Trennplatte

INSTALLATION DER LUFTERSTEUERUNG




Contenido de la confeccion
Compatibilidad

Instalacion tarjeta madre

Instalacion tarjeta madre

Instalacion alimentador

Instalacién Hard Drive

Instalacion Hard Drive

Instalacién Drive Optico

Extraccion Bay 5.25"

Regulacidn cesto para Hard Drive
Regulacion cesto para Hard Drive
Instalacion ventilador frontal

Instalacion ventilador Superior y Posterior
Instalacion Radiador Frontal (240/280mm)
Instalacion Radiador Frontal (360mm)
Instalacion Radiador Superior

Instalacion Radiador Posterior
Instalacion LED Frontal

Quitar la placa de separacion

INSTALACION CONTROL VENTILADOR

ks

Contenu de I'emballage

Compatibilité

Installation de la carte mére

Installation de la carte mére

Installation de I'alimentation

Installation du disque dur

Installation du disque dur

Installation du lecteur optique

Retrait de la baie 5.25"

Réglage de la cage pour disque dur

Réglage de la cage pour disque dur
Installation du ventilateur frontal

Installation des ventilateurs supérieur et arriére
Installation du radiateur frontal (240/280mm)
Installation du radiateur frontal (360mm)
Installation du radiateur supérieur
Installation du radiateur arriére

Installation du LED frontal

Enlever le plateau de séparation

Installation du contréleur de ventilateurs




Italian

1
2

Contenuto della confezione

Compatibilita

Installazione scheda madre

Installazione scheda madre

Installazione alimentatore

Installazione Hard Drive

Installazione Hard Drive

Installazione Drive Ottico

Rimozione Bay 5.25"

Regolazione cestello per Hard Drive
Regolazione cestello per Hard Drive
Installazione ventola frontale

Installazione ventola Superiore ed Posteriore
Installazione Radiatore Frontale (240/280mm)
Installazione Radiatore Frontale (360mm)
Installazione Radiatore Superiore
Installazione Radiatore Posteriore
Installazione LED Frontale

Rimozione pannello di separazione

INTSTALLAZIONE DEL CONTROLLER DELLA VENTOLA

Polish (PL)

Zawartosc opakowania
Zgodnos¢

Montaz ptyty gtownej
Montaz plyty gtownej
Montaz zasilacza

Montaz dysku twardego
Montaz dysku twardego
Montaz napedu optycznego
Wyjmowalna zatoka 5,25"
Regulacja zatoki dysku HDD
Regulacja zatoki dysku HDD

Montaz wentylatora z przodu

Montaz gérnego i tylnego wentylatora
Montaz chtodnicy z przodu (240/280mm)

Montaz chtodnicy z przodu (360mm)

Montaz chtodnicy z géry
Montaz chfodnicy z tytu
Montaz LED z przodu
Usun plytke dziatowa

montaz sterownika wentylatora




Russian (RU)

1

w

ks

Copepxanme KoMneKTa
CoBMmecTUMOCTD

YcTaHOBKa MaTepPUHCKOI NnaThbl
YcraHoBKa MaTepUHCKOI NnaTbi
YcraHoBKa 6noka nuTaHua
YcTaHOBKa XKeCTKOro Aucka
YcTaHOBKa XKECTKOro AucKa
YcTaHOBKa ONTHYECKOr0 NPUBOAA
[IlemonTax 5.25" oTceka

Per HDD

Per HDD

YcraHoBKa nepejHero BeHTUNATOpa

YcraHoBKa P un3agHero

MoHTax papuaropa Ha nepepHeit nanenu (240/280mm)

MoHTax paguaTopa Ha nepepHeii nasenu (360mm)

MonTax papuatopa Ha BepXHeil naHenu
MoHTax papuaropa Ha 3ajHeil naHenn
Montax LED Ha nepepHeit nanenn
[llemonTax neperopopku

YCTAHOBKA KOHTPOJIIEPA BEHTUNATOPA

P!

N r—IRA

IN—Y B

Y —R—FOEUF

Y —R— ORI

BRI bOEYF

ARL—=IFINA ZDED)F
ARL—=IFINA ZDERYF

HFERSA T ORIFHF

514 FNADERIANL

HDDY — Y D B

HDDY — T D B %

70> b 77 OB

My TENT DT 7 OB

BTV T—2OEMIFF (T 0O F) (240/280mm)
KAZY T—2OE)HF (70 1) (360mm)
KBTI T—2OEIFF (bvT)

KBTI T—2DEWIFF (UT)
LEDDOERWASIF (7B 1)
RSA75—JDEIAL

77V A—=SOERYAF




ese (CHT)

FLHE N5 Y i AR

25T SO R T
St
525 AR R 7T =
TR 7 20

FERR AR 77 50

- ,U.

5

5 B L PR
b7 BT A R R

11777 (240/280mm) 7KV 2 4%

177 (360mm) 7K ¥ HE 2 4%
K HER S

BT SR

Wi 7 LEDRS 2245 1
PR AR

LR

Chinese (CHS)

@,‘

ek

F L

EAR et v

LIRS S i)

R i

25Tl #E SSDEEE R T
CIR AR

5,25 AR AR B Ty =X

i AL AR R 7 =

Tl 2 2 e 7 2

it

EJ5 s JE T st

B i

e

Fe

HiT75 XU

HiT 77 (240/280mm) 7K V4 2245

R

1777 (360mm) 7K % HE2Re e

IR
JE T AR HER AR

Wi JTLEDX] 4457
PRI AR

IR B A il 2 e e i v

e




Czech (CS)

instalace vrchniho a zadniho vétraku

instalace vodniho chlazeni zepredu (240/280mm)
instalace vodniho chlazeni zepfedu (360mm)
instalace vodniho chlazeni zvrchu

instalace vodniho chlazeni zezadu

Odstranitelna rozdélovaci deska

1. (babpxanue 1. baleni obsahuje

2. (bBMeCTUMOCT 2. kompatibilita

3. MOHTaX Ha AbHHa NnaTKa 3. instalace zakladni desky

4. MOHTaX Ha {bHHA NNaTka 4. instalace zakladni desky

5. MOHTaM Ha 3axpaHBall 6noK 5. instalace napajeciho zdroje
6. MOHTaX Ha TBbPA ANCK 6. instalace pevného disku

7. MOHTaX Ha TBbPA AUCK 7. instalace pevného disku

8. MOHTaX Ha ONTUYHO YCTPOIICTBO 8. instalace optické mechaniky
9. 5.25" otAeneHue 3a ONTUYHO YCTPOICTBO 9.  Vyjmutelna 5.25" pozice

10.  peryaupaHe Ha OTAeNEHNETO 3a TBHPA AUCK 10.  Pizpiisobitelny drzik na HDD
11, perynupaHe Ha OTA€NIEHNETO 3a TBLPA AUCK 11.  Prizpisobitelny drzak na HDD
12.  MOHTaX Ha npefeH BeHTUnaTop 12.  instalace predniho vétraku
13.  MOHTaX Ha ropeH U 3aileH BeHTUnaTop 13.

14.  MOHTaX Ha npepeH paauarop (240/280mm) 14.

15.  MOHTa) Ha npejeH paauatop (360mm) 15.

16.  MOHTaX Ha ropeH paguarop 16.

17.  MOHTaX Ha 3ajieH papuarop 17.

18.  moHTax Ha npepeH LED 18. instalace LED zepfedu

19. MpemaxBaHe Ha pasfienuTeNnHaTa NNacTMHa 19.

20.  MoHTupaHe Ha naHena 3a Ha 20. I ladac

ventilatoru




1. Nepiexopeva ouokevasiag 1. Acsomag tartalma

2. Ivpparémnra 2. kompatibilitas

3. Eykatdotaon pntpiki¢ makétag 3.  alaplap beszerelés

4. Eykatdotaon pnrpikig mhakétag 4.  alaplap beszerelés

5. Eykavdotaocn tpopodotikod 5.  tapegység beszerelés

6.  Eykavaotaon okAnpoo diokou 6.  merevlemez beszerelés

7. Eykataoctaon okAnpov diockou 7. merevlemez beszerelés

8. Eykatdotaon omtikou dickov 8.  optikai meghajté beszerelés

9.  Agaipeon 5.25" gatviov 9. 5.25"rekesz eltavolitas

10. Mpooappoyn cage okANp@V Siokwv 10.  merevlemez keret allitasa

11.  Npocappoyn cage okAnp@v Sickwv 11.  merevlemez keret allitasa

12.  Eykava 1 pmp ) QVEIOTIP 12, eliils ventilator allitasa

13.  Eykava ] Gvo) Kat miow avepoThp: 13, eliilsd és hatulso ventilator beszerelése
14.  Eykatdotaocn pmpootivod Yuysiov (240/280mm) 14, eliilsé radiator beszerelés (240/280mm)
15.  Eykavdotaocn pmpootivou Yuyeiou (360mm) 15.  eliilsé radiator beszerelés (360mm)

16.  Eykavdotaocn emdvw Yuysiov 16.  felsd radiator beszerelés

17.  Eykatdotaon miow Yuyeiov 17.  hatulsé radiator beszerelés

18.  Eykavactaocn pmpootivou LED 18.  eliilsd LED beszerelés

19.  Agaipéote 1o partition plate 19.  Tavolitsa el az elvalaszt lapot

20.  ETKATAXTAZH FAN CONTROLLER 20.  Ventilator vezérld beszerelése




Dutch (N

1. Verpakkingsinhoud

2. Compatibiliteit

3. Moederbord installatie

4. Moederbord installatie

5. Voeding installatie

6.  Harde schijf installatie

7. Harde schijf installatie

8.  Optische drive installatie

9.  5.25"verwijderen

10.  Aanpassen harde schijf kooi

11.  Aanpassen harde schijf kooi

12.  Faninstallatie voorkant

13.  Faninstallatie bovenkant & achterkant
14.  Radiator installatie voorkant (240/280mm)
15.  Radiator installatie voorkant (360mm)
16.  Radiator installatie bovenkant

17.  Radiator installatie achterkant

18.  Verwijder scheidingsplaat

19.  Verander voorpaneel

20.  Fan Controller installatie

gal (PT)

Contetido da embalagem
Compatibilidade
Instalagao da motherboard
Instalagao da motherboard

Instalagdo da fonte de all

Instalagao do disco rigido

Instalagao do disco rigido

Instalagdo da drive ptica

Remocéo da baia de 5.25"

Ajuste da cage dos discos rigidos

Ajuste da cage dos discos rigidos
Instalagdo da ventoinha frontal

Instalagao da ventoinha no topo e traseira
Instalagao do radiador na frontal (240/280mm)
Instalagdo do radiador na frontal (360mm)
Instalagao do radiador no topo

Instalagao do radiador na traseira
Remogdo do painel de particao

Mudanga do painel frontal

Instalacio do Jador de o




Serbian (SR)
1. Sadriaj pakovanja
2. kompatibilnost
3. instalacija maticne ploce
4.  instalacija maticne ploce
5. instalacija napajanja
instalacija hard diska
7. instalacija hard diska
8.  instalacija optickog uredaja
9.  uklanjanje 5.25" lezista
10.  podesavanje kaveza za hard disk
11.  podesavanje kaveza za hard disk
12. instalacija prednjeg ventilatora
13. instalacija gornjeg i zadnjeg ventilatora
14. instalacija prednjeg radijatora (240/280mm)
15. instalacija prednjeg radijatora (360mm)
16. instalacija gornjeg radijatora
17.  instalacija zadnjeg radijatora
18. instalacija prednjeg LED
19.  Ukloniti pregradni panel
20. Ugradnja kontrolera za ventilatore

Turkish (TR)

Paket igerigi

Uyumluluk

Anakart Kurulumu

Anakart Kurulumu

Gii¢ Kaynagi Kurulumu

Sabit Disk Kurulumu

Sabit Disk Kurulumu

Optik Siiriicii Kurulumu

5.25" Siiriicii Kapagimin Cikarilmasi
Sabit Disk Kizak Ayarlamasi

Sabit Disk Kizak Ayarlamasi

On Fanin Takilmasi

Ust ve Arka Fanin Takilmasi

(On Radyator Kurulumu (240/280mm)
On Radyator Kurulumu (360mm)
Ust Radyator Kurulumu

Arka Radyator Kurulumu

0On LED Kurulumu

Bdlme plakasini ¢tkarin

FAN KONTROLCU KURULUMU




HDD /SDD %]
HDD / SDD x|
0DD x|

5.25" Bay RI7{

® ® NS AW N

10. HDD Cage $I%| #HZ
11. HDD Cage 91X Y

12. ZH MR

13. HEH/ FH W MX|

14, MM 2{C[0f0]E] MX|

(240/280mm)

15. MM 2{C[ofo]E] Mx]

(360mm)

16. &EH2ICIOO]E] MX|
17. FH2{C[ofo[E] Mx]

18. T LED MX|
19. Zhto] Hi7q
2. HAEEZ Mx|

e ME2I0] MX|

Isi paket
Kompatibilitas
Instalasi motherboard
Instalasi motherboard
Instalasi power supply
instalasi hard disk
instalasi hard disk

instalasi perangkat optikal

° ® N noEw N

Melepaskan perangkat 5,25"

10.  Pengaturan kandang hard disk

11.  Pengaturan kandang hard disk

12. Instalasi kipas depan

13. Instalasi kipas atas dan belakang

14. instalasi radiator depan
(240/280mm)

15. instalasi radiator depan
(360mm)

16. instalasi radiator atas

17. instalasi radiator belakang

18. Instalasi LED Depan

19.  Melepaskan pelat partisi

20. instalasi pengontrol kipas

Arabic (AR)

2kl 5 siaa

il gl

A9 s S s

A3 s S s

eI bl s s

Ghall Ga 8l S 55
Ghall Ga 8l S 55

A gl al 3V & jae S s
5.25 "ga Al

Jaans (il laall (il
Jaans (il laall (il
Apalal A5 e S 3

4pala 5 dgsle Aa g e S 0
(240/280mm) & Laiall dgaall S 3
(360mm) ¢ Lafiall dgpald) oS 53
g ladiall e Y1 (S 3

gladiall AN G

sz dl wsd,e LED
il Galall &5l g 35 a8

da g pall aSaia S i




¢0OLER
MASTER

Make It Yours.

Asia Pacific - Cooler Master Technology Inc.

8F., No. 788-1, Zhongzheng Rd., Zhonghe Dist.,
New Taipei City 23586, Taiwan (R.O.C.).

Tel: +886-2-2225-3517

China - Cooler Master China

Room 2062, Floor 6, No. 421, Weiqging Rd.,
Jinshan District,Shanghai City,China

Tel: +86-21-51872177

Europe - Cooler Master Europe B.V.
Lodewijkstraat 1b, 5652AC Eindhoven, The Netherlands
Tel: +31-(0)40-702-0900

North America - Cooler Master NA
4820 Schaefer Ave. Chino CA, 91710, USA
Tel: +1-888-624-5099

Product Page 5 |
www.coolermaster.com/qr/mastercase-mc600p [EEdnd account.coolermaster.com

512000321-GP Ver 1.0: 2017/12 &

The color and specification are subject to be changed without further notification.
Please visit our website for updated information: www.coolermaster.com

©2017 Cooler Master Technology Inc. All Rights Reserved. All trademarks are registered to their respective owners.




